Tableaux des Puissances de Dix (C)

Divisez le nombre de la rangée par celui de la colonne.

+ 900 9000 90 90 000

54

100

37

18

26

+ 90 90 000 900 9000

67

23

20

45

36

+ 300 3000 30 30 000

60

74

21

83

+ 20000 20 200 2000

20

91

41

96
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Tableaux des Puissances de Dix (C) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 900 9000 90 90 000
54 0,06 0,006 0,6 0,0006
100 011111111 | O0,01111111 | 1,11111111 | 0,00111111
37 0,04111111 | 0,00411111 | 0,41111111 | 0,00041111
18 0,02 0,002 0,2 0,0002
26 0,02888889 | 0,00288889 | 0,28888889 | 0,00028889

+ 90 90 000 900 9000
67 0,74444444 | 0,00074444 | 0,07444444 | 0,00744444
23 0,25555556 | 0,00025556 | 0,02555556 | 0,00255556
20 0,22222222 | 0,00022222 | 0,02222222 | 0,00222222
45 0,5 0,0005 0,05 0,005
36 0,4 0,0004 0,04 0,004

+ 300 3000 30 30 000
60 0,2 0,02 2 0,002

7 0,02333333 | 0,00233333 | 0,23333333 | 0,00023333
74 0,24666667 | 0,02466667 | 2,46666667 | 0,00246667
21 0,07 0,007 0,7 0,0007
83 0,27666667 | 0,02766667 | 2,76666667 | 0,00276667

+ 20 000 20 200 2000
20 0,001 1 0,1 0,01
91 0,00455 4,55 0,455 0,0455
41 0,00205 2,05 0,205 0,0205

1 0,00005 0,05 0,005 0,0005
96 0,0048 4,8 0,48 0,048
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